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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

lllustrate the answer wherever necessary.

Answer all the questions.

GROUP-A
feto-=
(Marks : 50)
(W9 : @o)
1.  Answer any two questions: 1x2=2
@I ¥f6 e Ted e 2
a)  What are the objectives of fiscal policy?
fReorayiet Tifes srmrafe] I e
b)  What do you mean by indirect tax?

AT F9 00 I (@[ ?

[Turn over]

c)

What is 'Lump-sum' Tax?

'"Lump-sum' < FICF 07 ?

Answer any four of the following questions:

2x4=8

-G ol At Ted 7l ¢

a)

b)

c)

d)

12(A)

What do you mean by fiscal deficit?
ReiE 9ibte w1 @Rl 2

What is meant by market failure?
ST P! FICe F @R 2

What do you mean by public good?
AT T 00 (IR 2

What is the fundamental difference between
Public Finance and Private or Personal

Finance?

IR - FIZI AT IS A (@A
- JIEF 24l A1 Fhe

Mention two objectives of Public Finance.

SRR ST 7T ! e qio Sy (4 |

What is meant by 'free-rider' problem?

"Free-rider' 331 I670@ & (@R 2



Answer any two questions: 5x2=10

@I 75 20eF TR wie ¢

a)

b)

d)

Write a short note on built-in-flexibility of tax
system.

T SO ST ZS Tl T=1F @37 bl
o7l 4 |

What is public revenue? Discuss about the
various sources of public revenue.

TeAfeT T=ATE ST 9 |

Write a note on the effects of Income tax on
'"Work-effort'.

I 22 T SRR S A 936
Biel @14 |

Write a note on the features of an ideal tax-
structure.

476 o 1 FloIR AR T T
rle (<74 |

Answer any two of the following questions:

15%2=30

@I 75 20eF TR wie ¢

a)

12(A)

Critically evaluate the 'ability to pay principle'

of taxation.

T AR AL TGS TR
Sl
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b)

Examine the process of optimum provision of
Public goods in a perfectly competitive

market.

sjof eferaifsrera eI TR TR [ ¢
B PR T T60 A1 of [ese 54|

What is meant by the term 'Incidence of
taxation'? Show the effects of 'Unit' and 'Ad-
valorem' tax on Price and Output under
Monopoly. 5+5+5

AT TG IS 6 (@RI 2 GO 7=
(Monopoly Market) ‘@3 8 YIS T4, 1IN
@ TAMER 8ol F T gk R S 2

GROUP-B
IERE
(Marks : 50)
(I : @o)

Answer any two questions: I1x2=2

@I 5 2d0eF TR e 2

a)

b)

12(A)

What do you mean by Put option?
{5-S[ 2P FICP 06T ?
What do you mean by mutual fund?

RIS FIT 1o F (@Rl 2

[4]



12(A)

d)

Name two financial instruments of a Financial
Market.

wfefs e Srgers gt SNifefs Seiwaces T
S

How do you distinguish between short-term
financial instruments and long-term financial

instruments?

FECAM S NGRS olrarer sy “Ney
e F9@?

Answer any five of the following questions:

2x5=10

@-(ICA #A6fB 2ras T e ¢

a)

b)

d)

What do you mean by price earning ratio?
ET SR AT S (@R 2

What do you mean by capital structure of a

corporation?
G35 TR ST FIONAT IS (@R 2

What do you mean by negotiable financial

instrument? Give one example.

G5 TR HEIS! T e #1q @1
I @RIT @Y |

What is the importance of financial market?

fefE AT Ol Fe
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g)

h)

What is the basic difference between balance

sheet and income statement of a firm?

O FII9 Balance Sheet €4 Income
Statement 3 &1 #/14y 52

What is Share?

QRIERTE

Define Public Limited Company.
Public Limited Company q <] WIS |
What is call option?

Call Option f ¢

Answer any three of the following questions:

6x3=18

@I Foals 2d Ted e ¢

a)

b)

12(A)

What do you mean by ratio analysis in
financial statements? Write a note on

important financial ratios.

Wi fgfere wmete [Kose S e
gl SRoTee il T @3 Tl =74 |

Derive the present value of a perpetuity

growing at a constant rate.

T S 21 3% 2 MR T6TE &
fdize 521



d)

e)

Briefly discuss the relationship between
capitalism structure and cost of capital of a

firm.

@I @FH TG T4 FIOHF A I
IR FT=2F FCHCo! A T |

What do you mean by capital structure of a

firm?
@35 TR SE FIOTC FeT0e o 6 @RI2
Explain the principal features of a derivative.

@& Derivative 93 &1 (Af(@yafe 3fqi 71|

Answer any two of the following questions:

10%x2=20

@I 75 20eF TR wie ¢

a)

12(A)

Consider a portfolio of 250 shares of firm A
worth Rs.30 per share and 1500 shares of firm
B worth Rs.20 per share. You expect return of
4% for stock A and return of 9% for stock B.

i)  What is the total value of portfolio and

what is its expected return?

i1)  Suppose firm A's share price falls to
Rs.24 and firm B's share price goes up
to Rs.22, what return the portfolio would
earn? 2+4+4=10

[7] [Turn over]

b)

12(A)

93 (ATrlene, A Fiela 250 o T
#fsioa &7 30 B @R B TG 1500 R
TR @fsiba 57 20 B, =R ofde | A @3k B
355 AenfRre RO TG 4% 9% 9% |

i) AT @F Iom F© @ @3
oAbrifelta aeonfre Ko Fo?

ii) 42 T I36F A G WY I 24 GRF @R
53 B 93 MW I 22 GBI TR0 OIEE
G cifere oI o 312

Explain the advantages and disadvantages of a

corporation.

Fesficeitea e ¢ sfaafe e <
Explain the Miller-Modigliani theorem.
Miller-Modigliani &=+ ap=mt 1|



